
Operation & Maintenance Manual 

K Polarbear Series-V0

Add: 4-5F, Building 7, Huangbeiling Jingxuan Industrial 
         Park, No.2 Donghuan Rd, Yousong, Longhua New 
         District, Shenzhen, China
 Tel: +86-755-33953361
Fax: +86-755-28030133
Web: www.khjled.com 

SHENZHEN KHJ SEMICONDUCTOR LIGHTING CO., LTD.

1.Brief Introduction
1.1. LED source, aluminium alloy explosion proof enclosure. Small 
  size, high intensity and light weight. Integration design, indirection 
  input cable, high safety and stability.

2.Application
2.1.Suitable for petroleum, petrochemical industry. Used for area 
  lighting in oil well sites, petrochemical units, warehouse.
2.2. Ambient temperature from -40℃ to 55℃.

3.Executive standard
3.1. IEC 60079-0 Explosive atmospheres - Part 0: Equipment - General 
   requirements.
3. 2. IEC60598-2-1 Luminaires - Part 2 : Particular requirements. Fixed 
   general purpose luminaires. 

4.Caution
4.1. This product should be installed and maintained by  qualified 
  electrician only.
4.2. Do not install where the marked operating temperatures exceed the 
  ambient temperature of the hazardous areas.
4.3. Do not operate in ambient temperatures above those indicated on 
  the floodlight nameplate.
4.4. Make sure the electrical power is OFF before making installation 
  and maintenance.
4.5. Luminarie housing must be grounded.
4.6. Do not touch the luminarie while energized.
4.7.Do not use the cable comes with light for regular illumination, 
  it is only for test and shall not be installed with light.

5.Installation method

  5.1. Select the right installation method as needed. make related M12 
    expansion anchor bolts according to different hole location.
  5.2.Install and fasten the accessories to the right places on the light,
    install the light with flat washer, lock washer and bolt nut to the 
    expansion anchor bolts, Installation steps of each installation methods 
    as below:

5.2.2.Wall mount

5.2.3.Pendant mount

5.2.4.Pole mount

Individual tips of each installation method:
5.2.1. Stanchion mount

Install�the�stanchion�bracketbolts�location

expansion�anchor�bolt:M12

Install�the�loops

Pole seat

Install the stanchion bracket (part1) Insert the lamp pole into the bracket

5.2.5. Pipe mount�

Pipe�clamp�location Fasten�light�with�clamp�to�the�light�pole Pipe�clamp

5.3.According to the installation location, select suitable three core 
   cable (OD: 8-14 mm) with strip length (L:80mm, N: 60mm, 
   GND:80mm).

5.4.�Remove 4pcs M4 screws with hex wrench and open the side cover.

expansion�anchor�bolt:M12

bolts�location Install�the�stanchion�bracket

expansion�anchor�bolt:M12

bolts�location

Install the stanchion bracket (part2)

Pole 

unit:mm

unit:mm

unit:mm

unit:mm

φ60-80

(pipe clamp is only for 80W polor bear series products.)

Stanchion mount

Wall mount

Power

Power

Pole mount

Pendant mount

M10 Lifting Bolt

240W、200W、160W、120W、80W

240W、200W

160W、120W、80W 160W、120W、80W240W、200W、160W、120W、80W

240   200  160  120   80

256   256  170  170  170L（mm）

Power 240   200  160  120   80

256   256  170  170  170L（mm）

Power 240   200  160  120   80

256   256  170  170  170L（mm）

240W、200W、160W、120W、80W

Pipe clamp

customer owned



5.5.Remove the gland nut. 
5.6.Put the cable through  nut, flat washer, rubber seal and flat 
  washer to the cable terminal.
5.7.Connect positive and negative pole to the right terminal, connect 
  the ground pole with screws in the terminal compartment.

5.8. Fix the terminal compartment cover and fasten nut with screws.
5.9.Connect the ground pole with screws as remarked, and fasten it.
   install the safety chain,one end to the light,the other end to the 
   installing surface.

5.10.Fix this luminaire in right place and connect to the AC power.
5.11.In condition that lights are installed in cascading,all cable 
  entries must be extended in a same way,entry of the last light must 
  be sealed with cable cap.

5.12. The quantity of cascading light:

5.13.luminaire wiring diagram:

7.Maintenance :
7.1.LED Replacement
  71.1.Remove the M5 screws with hex wrench and open the cover.

   As picture 1.

  7.1.2.Take off the decorative cover and reflector with cross screwdriver

   (for led spotlight, should take off the lens tabletting)

  7.1.3.Repace the new PCB,fix it,and connect the lead wire between 

  PCB and Power supply.
  7.1.4.Install the Decorative cover, put the cover and fix the cover tightly.

7.2Power supply replacement
  7.2.1.Remove 4pcs M5 screws with hex key from the cover and open it.
  7.2.2.Remove 8pcs M4 screw with Malfunction Diagnosis and 
    Correction and take off the power supply.
  7.2.3.Replace a new power supply and fasten it well.
  7.2.4.Fix the cover and fasten nut with screws, make sure the position 
    of rubber seal is correct

①The dotted line parts "L" live wire,"N" Neutral wire,"    " earth wire are
    three core cables already installed well.
②The solid line parts also well connected. if any failure,please check 
    according to this drawing.

8.Optional Parts

9.Malfunction Diagnosis and Correction 

Malfunction Diagnosis               Analysis                                     Correction  

Fail to work

Other problems

No power                               Check the circuit

LED damaged Repalce LED in secure condition

Driver damaged Replace LED driver in secure 
                     condition

Contact KHJ service center

10.Maintenance 
10.1.Carry out regular cleaning.
10.2.Do NOT clean the light while energized.
10.3.Do NOT clean the light when it's working.

Do NOT conduct any on-site maintenance .

Remove 4 pcs M4 scerews on the power cover

gland�nut� rubber seal

flat washer

Note:pay attention to the installation process

cross�screwdriver

Power 240 W 200 W 160 W 120 W 80 W

Cable specification 3× 1. 5² 3× 1. 5² 3× 1. 5² 3× 1. 5² 3× 1. 5²

3 4 4 6 8

1 2 2 3 4

Quantity High voltage(220V-240V)

Low voltage(100V-130V)

L N G

L N G

Dirver

2

GND�external

Safety chain

Buckle

GND�internal

reflector panel
tempered�glass

refectors

cross�screwdriver

1                                                                           2                                                                      3

6.Operation
6.1.After installation, the luminarie will work while connecting to AC 
  power.
6.2.Do not use lights with missing accessories or parts.
6.3. Do not touch the luminarie while energized.

1 2

3
4


	页 1
	页 2

